

Florida Department of Transportation

02/06/2024

Vendor Ranking

Page 1 of 1

Letting: 04240202 February 02, 2024 10:30 AM **Call Order:** 007

Contract: E4X34-R0

District: District 4

Counties: DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 42833567201 (*)

Contract Desc: TREASURE COAST NPDES CORRECTIVE ACTIONS

Ranl	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ENVIRONMENTAL LAND DEVELOPMENT	Responsive	Winning bid	\$274,833.52	100.00%
2	MAER HOMES, LLC	Responsive	Non-Winning Bid	\$314,751.52	114.52%
3	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$805,967.92	293.26%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:

BEGIN DATE:

02/27/24

BEGIN TIME:

10:30 AM

END DATE:

03/01/24

END TIME:

10:30 AM

NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$ 250,000.00 and not the contractor's bid total.



Florida Department of Transportation



Tabulation of Bids

Page 1 of 9

Letting: 04240202 February 02, 2024 **Call Order:** 007 **Contract:** E4X34-R0

District: District 4 Counties: DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 42833567201 (*)

Contract Descr: TREASURE COAST NPDES CORRECTIVE ACTIONS

The work under this Contract consists of all labor, equipment, materials and incidentals necessary to rehabilitate any part of the NPDES/drainage system assets, remove and dispose of any type of blockage inside of any part of the storm drainage system to provide maximum drainage capacity of the Department's storm water system in Martin, St. Lucie, and Indian River Counties.

- •ADVERTISED ESTIMATE: The award amount and contract performance bond shall be based on the Department s advertised estimate amount of \$250,000.00 and not the contractors bid total.
- •PERFORMANCE BOND: A Contract / Performance bond is required for this project.
- •REQUIRED SUBMITTAL WITH BID: Experience Form Drainage Repair 850-070-05 must be submitted with the bid.

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2023-24 (SECTION 7-13) FOR INSURANCE LIMITS.

Line No / Item ID Alterna	te Quantity Units	(1) ENVIRONM DEVELO		(2) MAER H	OMES, LLC	CONSULTING	ANAGEMENT & G OF FLORIDA
() indicates item is bid as Lump Sun	1	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
SECTION: 0001	(ASPHALT RE	PAIR (MECHANIC	AL) (TN				
0005 0102 14 TRAFFIC CONTROL OFFICER	15.000 HR	85.00000	1,275.00	55.00000	825.00	200.00000	3,000.00
0010 0102 60 WORK ZONE SIGN	200.000 ED	15.00000	3,000.00	5.00000	1,000.00	5.00000	1,000.00
0015 0102 74 1 CHANNELIZING DEVICE- TYPES I VP, DRUM, OR LCD	150.000 , II, DI, ED	15.00000	2,250.00	5.00000	750.00	10.00000	1,500.00
0020 0102 76 ARROW BOARD / ADVANCE WAR ARROW PANEL	20.000 NING ED	225.00000	4,500.00	50.00000	1,000.00	100.00000	2,000.00



Page 2 of 9

Florida Department of Transportation



Tabulation of Bids

Letting: 04240202 February 02, 2024 **Call Order:** 007 **Contract:** E4X34-R0

Letting:	: 04	240202	February 02, 20	024 Cal	I Order: 007		Contract:	E4X34-R0	
	No / Item ID Description	Alternate	e Quantity Units	(1) ENVIRONM DEVELO		(2) MAER H	OMES, LLC	CONSULTING	NAGEMENT & GOF FLORIDA
() indic	cates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	_C Ext Amount
	SECTION:	0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
	0102115 BARRICADE		150.000 ED	5.00000	750.00	5.00000	750.00	10.00000	1,500.00
	0104 10 3 NT BARRIER		20.000 LF	8.00000	160.00	10.00000	200.00	50.00000	1,000.00
	0104 11 IG TURBIDIT\	Y BARRIER	50.000 LF	15.00000	750.00	15.00000	750.00	50.00000	2,500.00
STAKED	0104 12 TURBIDITY E RCED PVC	BARRIER- NY	68.000 LON LF	15.00000	1,020.00	15.00000	1,020.00	20.00000	1,360.00
	0104 18 ROTECTION S	SYSTEM	20.000 EA	150.00000	3,000.00	75.00000	1,500.00	400.00000	8,000.00
	0110 410 AL OF EXISTII	NG CONCRET	25.000 FE SY	40.00000	1,000.00	75.00000	1,875.00	100.00000	2,500.00
	0120 1 R EXCAVATIO	ON	122,280 CY	29.00000	3,546.12	34.00000	4,157.52	64.00000	7,825.92
	0120 2 2 V EXCAVATIO RE	ON, TRUCK	100.000 CY	35.00000	3,500.00	38.00000	3,800.00	100.00000	10,000.00
0065 EMBANK	0120 6 KMENT		100.000 CY	26.00000	2,600.00	25.00000	2,500.00	100.00000	10,000.00



Page 3 of 9

Florida Department of Transportation



Tabulation of Bids

Letting:	04240202 F	ebruary 02, 20	024 Cal	l Order: 007		Contract:	E4X34-R0	
Line No		Quantity Units	(1) ENVIRONM DEVELO		(2) MAER H	OMES, LLC	(3) ROGAR MA CONSULTING	OF FLORIDA
	es item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price E	C Ext Amount
SI	ECTION: 0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
DITCH CLE	20 9 1 ARING OF LARGE DN, DITCH WIDTH UP TO	500.000 LF) 15'	13,00000	6,500.00	9.00000	4,500.00	44.00000	22,000.00
DITCH CLE	20 9 2 ARING OF LARGE DN, DITCH WIDTH 15-30'	500.000 LF	16.00000	8,000.00	14.00000	7,000.00	44.00000	22,000.00
DITCH CLE	20 9 3 ARING OF LARGE DN, DITCH WIDTH GREA	250.000 LF TER	18.00000	4,500.00	30.00000	7,500.00	44.00000	11,000.00
CLEAN AND	20 10 23 D RESHAPE DITCH, HAUI TH GREATER THAN 30'	200.000 L, LF	12.50000	2,500.00	45.00000	9,000.00	29.00000	5,800.00
	21 70 2 FILL, MAINTENANCE 'S ONLY	25.000 CY	289.00000	7,225.00	355.00000	8,875.00	500.00000	12,500.00
	39 1 NEOUS ASPHALT PAVEN	5.000 IENT TN	450.00000	2,250.00	575.00000	2,875.00	1,000.00000	5,000.00
0100 04 [.] REINFORCI MISCELLAN		15.000 LB	20.00000	300.00	40.00000	600.00	20.00000	300.00
0105 042 INLETS, AD	25 4 JUST	2.000 EA	1,900.00000	3,800.00	2,200.00000	4,400.00	5,000.00000	10,000.00



Page 4 of 9

Florida Department of Transportation



Tabulation of Bids

Letting:	04240202	February 02, 20	024 Cal	l Order: 007		Contract:	E4X34-R0	
Line No /		te Quantity Units	(1) ENVIRONM DEVELO		(2) MAER H	OMES, LLC	(3) ROGAR MA CONSULTING	OF FLORIDA
	s item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	.C Ext Amount
SE	CTION: 0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
0110 042 MANHOLE, <i>A</i>		3.000 EA	2,250.00000	6,750.00	1,850.00000	5,550.00	2,000.00000	6,000.00
	0 96 PIPE REPAIR- CONCR JOINT	6.000 ETE EA	450.00000	2,700.00	1,250.00000	7,500.00	3,000.00000	18,000.00
PIPE CULVE	0175118 ERT,OPTIONAL ROUND, 18"S/CD	20.000 LF	149.00000	2,980.00	170.00000	3,400.00	800.0000	16,000.00
PIPE CULVE	0175124 ERT,OPTIONAL ROUND, 24"S/CD	20.000 LF	169.00000	3,380.00	189.00000	3,780.00	800.0000	16,000.00
	0175130 ERT, OPT MATERIAL, S/CD	10.000 LF	179.00000	1,790.00	250.00000	2,500.00	800.0000	8,000.00
	0175148 ERT, OPT MATERIAL, S/CD	5.000 LF	240.00000	1,200.00	400.00000	2,000.00	1,000.00000	5,000.00
	0175154 ERT, OPT MATERIAL, S/CD	5.000 LF	325.00000	1,625.00	500.00000	2,500.00	1,000.00000	5,000.00
PIPE CULVE	.0175218 :RT,OPTIONAL OTHER-ELIP/ARCH, 18	50.000 LF "S/CD	149.00000	7,450.00	180.00000	9,000.00	300.00000	15,000.00



Page 5 of 9

Florida Department of Transportation



Tabulation of Bids

Letting: 04240202 February 02, 2024 **Call Order:** 007 **Contract:** E4X34-R0

Lettin	g : 04	4240202 F	ebruary 02, 2	024 Cal	I Order: 007		Contract:	E4X34-R0	
	No / Item ID	Alternate	Quantity Units	(1) ENVIRONM DEVELO		(2) MAER H	OMES, LLC	(3) ROGAR MA CONSULTING	OF FLORIDA
	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price E	C Ext Amount
	SECTION:	0001 ((ASPHALT RE	PAIR (MECHANIC	AL) (TN				
		ONAL HAPE-ELIP/ARC	50.000 LF :H,	169.00000	8,450.00	195.00000	9,750.00	400.00000	20,000.00
0155 DESILT	0430950 ING CONCRE	TE BOX CULVE	3.000 RT CY	150.00000	450.00	250.00000	750.00	500.00000	1,500.00
	0430991 1 ED END SECT ENANCE USE	, REPLACE SLA ONLY	5.000 B- CY	690.00000	3,450.00	825.00000	4,125.00	4,000.00000	20,000.00
0165 CONCF	0520 1 10 RETE CURB &	GUTTER, TYPE	50.000 F LF	49.00000	2,450.00	85.00000	4,250.00	100.00000	5,000.00
0170 CONCF	0520 2 4 RETE CURB, T	YPE D	10.000 LF	49.00000	490.00	85.00000	850.00	100.00000	1,000.00
	0522 1 RETE SIDEWA WAYS, 4" THIC		25.000 SY	110.00000	2,750.00	125.00000	3,125.00	200.00000	5,000.00
	0522 2 RETE SIDEWA WAYS, 6" THIC		25.000 SY	139.00000	3,475.00	145.00000	3,625.00	200.00000	5,000.00
0185 RIPRAF	0530 3 3 P- RUBBLE, BA	ANK AND SHOR	25.000 E TN	179.00000	4,475.00	185.00000	4,625.00	400.00000	10,000.00



Page 6 of 9

Florida Department of Transportation



Tabulation of Bids

Lettin	g : 0	4240202	February 02, 2	024 Ca	II Order: 007		Contract:	E4X34-R0	
	No / Item ID	Alternate	Quantity Units	(1) ENVIRONM DEVELO		(2) MAER H	OMES, LLC	(3) ROGAR MA CONSULTING	OF FLORIDA
	-	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price I	C Ext Amount
	SECTION:	0001	(ASPHALT REI	PAIR (MECHANIC	AL) (TN				
0190 BEDDIN	0530 74 NG STONE		4.000 TN	149.00000	596.00	225.00000	900.00	400.00000	1,600.00
0195 CLEAR	E110 2 ING & GRUBB	BING	5.000 AC	3,950.00000	19,750.00	3,000.00000	15,000.00	10,000.00000	50,000.00
0200 CLEAN (SPRE	E120 10 1 AND RESHAF AD)	PE DITCH	100.000 LF	7.25000	725.00	12.00000	1,200.00	10.00000	1,000.00
0205 CLEAN	E120 10 2 AND RESHAF	PE DITCH (HAI	450.000 UL) LF	8.50000	3,825.00	15.00000	6,750.00	24.00000	10,800.00
	E425 73 1 ING MANHOL ANICAL)	ES AND INLET	5.000 S EA	350.00000	1,750.00	300.00000	1,500.00	369.00000	1,845.00
0215 REPAIF INLETS		ANHOLES AND	5.000 EA	399.00000	1,995.00	525.00000	2,625.00	3,000.00000	15,000.00
0220 DESILT	E430 94 1 PIPE, 0 to 24	п	1,000.000 LF	4.90000	4,900.00	7.00000	7,000.00	24.00000	24,000.00
0225 DESILT	E430 94 2 PIPE, 25-36"		1,000.000 LF	6.90000	6,900.00	7.00000	7,000.00	24.00000	24,000.00
0230 DESILT	E430 94 3 PIPE, 37-48"		500.000 LF	12.00000	6,000.00	13.00000	6,500.00	44.00000	22,000.00



Page 7 of 9

Florida Department of Transportation



Tabulation of Bids

Letting: 04240202 February 02, 2024 **Call Order:** 007 **Contract:** E4X34-R0

Letting:	04240202 F	ebruary 02, 20	024 Cal	I l Order: 007		Contract:	E4X34-R0	
Line No / Item		Quantity Units	(1) ENVIRONM DEVELO		(2) MAER H	OMES, LLC	(3) ROGAR MA CONSULTING	OF FLORIDA
() indicates iten	n is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	.C Ext Amount
SECTION	ON: 0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
0235 E430 94 DESILT PIPE, 49		500.000 LF	15.00000	7,500.00	15.00000	7,500.00	44.00000	22,000.00
0240 E430 94 DESILT PIPE, 61		440.000 LF	18.00000	7,920.00	40.00000	17,600.00	30.00000	13,200.00
0245 E431 1 PIPE LINER, CUI	21 RED IN PLACE, 0-24	100.000 ." LF	149.00000	14,900.00	165.00000	16,500.00	800.00000	80,000.00
0250 E431 1 PIPE LINER, CUI	22 RED IN PLACE, 25-3	100.000 6" LF	205.00000	20,500.00	225.00000	22,500.00	1,000.00000	100,000.00
0255 E431 1 PIPE LINER, CUI	23 RED IN PLACE, 37-4	100.000 .8" LF	349.00000	34,900.00	315.00000	31,500.00	1,000.00000	100,000.00
0260 E431 1 PIPE LINER, CUI	24 RED IN PLACE, 49-6	10.000 60" LF	590.00000	5,900.00	750.00000	7,500.00	1,000.00000	10,000.00
0265 E431 1 PIPE LINER, CUI GREATER	25 RED IN PLACE, 61" /	10.000 AND LF	690.00000	6,900.00	1,000.00000	10,000.00	1,000.00000	10,000.00
0270 E432 4 STORM SEWER CAMERA)	INSPECTION (VIDE	1,000.000 O LF	7.00000	7,000.00	10.00000	10,000.00	6.00000	6,000.00
0275 E575 1 SODDING		1,567.000 SY	4.20000	6,581.40	7.00000	10,969.00	11.00000	17,237.00



Contract Grand Totals:

Florida Department of Transportation

02/06/2024

Tabulation of Bids

Page 8 of 9

805,967.92

Letting:	04240202	February 02, 2	024 C a	all Order: 007		Contract:	E4X34-R0	
Line No / Item		Quantity Units		MENTAL LAND OPMENT	(2) MAER I	HOMES, LLC	· · ·	MANAGEMENT & NG OF FLORIDA
•	is bid as Lump Sum	• • • • • • • • • • • • • • • • • • •	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LLC Ext Amount
SECTIO	N: 0001	(ASPHALT RE	PAIR (MECHANI	CAL) (TN				
	PHALT REPAIR S HANICAL) (TN)		\$274,833.52		\$314,751.52		\$805,967.92	

\$274,833.52

\$314,751.52



Florida Department of Transportation

02/06/2024

Tabulation of Bids

Page 9 of 9

Letting: 04240202 February 02, 2024 **Call Order:** 007 **Contract:** E4X34-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.